R Y R G D A »‘-’v"i'd;‘('-.ﬂua}-’ﬁ}“";'&ﬁ*“g’d‘.«@4_1‘:«_.9;,.»ﬂ-j4."’-'-d;_"mj' B e B

N AME..anin ...... -'“'"'maé:;iﬂfd..?'.;;.:a.-'.':;:,.»;.i;i;‘;:'.,;.'/.f.'_;;‘..'.v
SChOOL...-....-.................-..-u-.-.....-............; -------- ' - : D‘te ooooooooooo sesnvees cseensanEmRssace
_ Candidate’s Signature. ..”.; cevsee

231/1 -
BIOLOGY "
Paper 1 .

(THEORY) L .
Time: 2 Hours
TOP NOTCH EXAM MERIT TWO (PR,E-M_OCK)VZDIG' -
KENYA CERTIFICATE OF SECONDARY EDUCATION. R
| msmﬁcngNg TO CANDIDATES | |
- ‘Write your name, school and index pumber in the spaces provid_ed at the tbpbffchis@ge..*Sign for

* and write the date of the examination in the spaces provided sbove.
- Answer ALL questions in the spaces provided in the question paper.

" QUESTION B MAXIMUM SCORE CANDIDATE’S SCORE

e A e

TOTAL SCORE

o ki paperconsissaf 12 primsed pogs. L T
Candidates should check the question paper (o ascertain that all pages mprmnd@ussp:d:cmd\andz: L
' . N that no question is missing _

s ey o £ st .



.

Name the element present in all Protein molecules but absent in carbohydrates. (1 mk) -

------------------------------- l\--l-.---.----.-u.a---a----ov-...o...---0'0---------‘.v-cc-o-.--lobuu-..-.oo-o---o-v
‘Name a vitamin and mineral ion involved in blood clotting process: (2 mks)
Vitamin

Mineral jon:- ’

Name the organ in humans where the following materials formed:- o (2 mks)

......... ...................................................u..............................,............'...,.............

The figure below shows a Structure of a tooth:

(@ _ Identify the tooth: - | | (1 mk)
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(i) Comparative embryology
--------- '\n--xo...-'.‘..lI.l.ll..-l‘l---st-.'n---t'..-.....-....--n.'-.nt-t.u'on---..-'l.—'--I-ol-.----.-o.-oo--o.----:.
6. Dlﬁ'erenuate between dry dehlscentanddrymdehmcent fruits. (2 mike)
Y R ‘What is the role of the following parts of the human brain:-
@ Cerebellum ' ' (2 mks;
sebesoensnonrocce Oi"-.-’.......'.0..Il-..'--l'l........‘l.O ----- sevuesBROOrasensrsY RN RN RS svasnes TR R R R U R L I R

x
--.-o--.o.c-...--voo.o..\ﬁ-..-.--.----o-c--ooca.----..

(ii) Hypqthalamus

ssesssscvecrussovasrn sty vessee seorvvasnconnm -.1-;....----;. ----- esaswivrrenssnsesssene [ R LR R I R
cesesessessanannasey eesenvscssan ............‘.‘....,.........T...........-.............n..................“..-,..(,.
avsseeresescsncce ssseraccnes ssnnese esecssocen tasvasnen PR R AR TR R R R A A R A A S A A S A R AR A A amsesmasarer BV
cssssnssmssrvences sencca [XXEELEEX RN “sasssnenvevsonaca eresenenssencsasarvey P R e N R NN R R

8.  The diagram below represents bones obtained from the forelimb of a mammal
15
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(1)  Name the bone labelled A - C(mk

.......”.,................\....\...:.. ...... eenen Ceeensenesennn teerecaronnabenmmrrsasanerenaanasanansertsantataasians
(b)  ‘Which type of join txsformedatpomtB? e (1 mk)
-w.._ob.-.ol.o-‘\.-gncn-.---o-lll-o-?o-.Alou..ua.-a..-.o---..n‘n--tl.i‘lo.-.-oioouoo'bn-.co.-o-oo---.----- ------- LR RN

'(¢) - _ Identify the bone that articulates with bone A at the proximal end. (1 mk

PR T TR IR P, MR P T T T R T R R S R AL R A L R A A R S AL AR ceeesssenessesemnancnenRascd Rt

‘i désmesspssteennssersssetmoaresnerErabeane vesreswsoesenassstnouossvassotrasonnsy [ T L L R R R P R

.9, .- The diagram below represents a stage of cell division.
3
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(8  Identify the type and stage of cell division. . o e . (2mks)
' Type of cell division ‘ '

iU
......
eeenesivensrassvasnanans e teessevsesessesasensessosrasenassesnonosnsananee eeeemveseessenssestsannavastosarians
Stage of cell division
;
1 esennsasisscssncsrrssraasnsncrsnot ol RN RN ] esacssernras poconse esmeccnrse ssssrsmessseesEIRRsnDn ssevosere escservens
| SOOI s st es s ans s e

10. Name a disorder in humans caused by : ,
@ Gme mutation - ' (1 mk)

........... ........................................g;...............................,.................5..;.........;.;

11.  The figure below shows two organelles.

()  Identify the organelle | | "  (mk)
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i () State two functions of the above organelle 2 mkzg)

-.......-......--.-....-.........f........-..-----.-»....-..-....--.-.................a..--.-.< ::::
..........................................................................................

---.c---q--..----------.--o. ------------------------------------------------------------------

12. The diagram below shows part of a longitudinal section of a root

~— Xylem

Pericycle

(») Identify cells K and L C i

: .o ®rsmnsacaveenr ‘e
oo.-.-..-.-.---.--.-.--4.--......-;-.-..--..---.---uo-.-..........-----.---.....-...-‘-...._----..-- .
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13. Sciénce club members designed an experiment as shown below: Examine it
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The se —up was kept at room temperature for one week _
| (@ = What was the aim of the experiment? . (1 mk)
|
P e hosens e et e e e en e, desmesennes

(b) . What observation was made after one week? (1 mk).
L e, ‘ ............................. cerereeenaes
| © Why were soaked seeds used in the experiment instead of dry seeds?. (2 mks)
! _
L e, e S
[ et e e e oo
I AR I s ............. RTINS ettt e,
| 14. The table below shows the estimated number of organisms in a Jake.

o Organism | Biomass
K 800 g
L 5000g
| M . |40g .
N 1200g

@ ,_I_denti_fy_aproducerinthe'lake o o (1.mk)

(b)  Explain why organism N has a higher biomass than organismK. (2 mks)
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15. Define each of the following terminologies as used in biology - @

(i) Ecology

......... «--.u.-a-.-.---.-.‘.--va----.----.4.,.-.........-.....-----.aoo.---.--o..----........,....—...---.--o

tesecen sssararsanman “vovecanastacans e LR N I R WA g ®secssssevenne tevssesnenuce

“essvones tseccssacercaay LR RN N L R PR L e L R L X XY Wy Pecenseancan secsane

L Y R R R T s St eleettatt ittt etetent o anes Csanva LR R R N P R tesccesrane devrrsnscarnnrseravan

.......

.......

16. - (a) - State two characteristics of Meristematic cells. , (2 mksy

“smsserseereerenan sersnnnssnre *etsencen

.oq....i-.--.-.u.--.----.onc---t-v~ ------ ---‘.-.-...'.u.-.....---o.-c..»o---~.-.-.- ..... setvesnnee tevsevransnsn LR Y. -
w

Terecosas L P N fossecusemvsonne LR R R R L L L L LT T i “osecpane L R R tescssecnes

R R R R T X T T T X T sassanes serssae “tsescntsnsnnnen sasesnan reescuae R tecernecerae -

()  Name the tissue responsible for Secondary tb1ckemng in plants - (1 mk)

LA N N N S Y MR R R R A R R I AR, Cvesresavrrrravnatannna cese .

.......

17. State the role of each of the following features found in the human respiration system (2 mks)

- (@  Goblet cells

D R R P L R LT R R coseaa sevacons bosvevesecnanvonn sevunansn vevereaen vescan essnseens temseni
e R I I T M A U A Y RS
...............

cuasimsuan L R I teeesvrasanvae sscevsacncvrna LR R Pasens conn -
cesre . LR

*evesrancstevenanan trsemevvee dresssrraviinnnna #rvemcIcreretacrvn sreresan tsierranen I AL R R R R RS

»
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18. A response exhibited by a piant shoot is illustrated below.

.......

.......
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Which disease results from inadequate




.-...........-...........»...._......-.'.........u.................’..._.. ..................................................
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2. A straight piece of tradescantia system of length 4 cm was split lengthwxse and then placed in a

solution for 30 Minutes. The appearance after 30 minutes was as shown in the ﬁgure below:-

o Cortex
Epidermis

(2 Idenﬁfythetypeofsbluﬁoninwhichthestemwasplaced. . (Imk)
.........
........................... S P ST U
®) Account for the appearance of the stem aﬁer 30 minutes. (3 mks)
...................... cermmre it tuiretttsareneateannnerenregunrernrasarnniontntetanertoanentatesennnssennnennn

[ - ’ .

.23 The equattdn Bélbw éhoyvs a reaction that occurs in plants.

’ "6C02. "‘12H'P — » CsHyz O + 30,

(@ 'I&éﬁfitﬁe’pmcéssf | | o o (1mk)
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25.

26.

..................

..................

............................ T e ettt e e neae e an e e e n e nn s oo
meeetidiccetcntsrnvetnnnravessannnnon Sesevecesenve #emsesscurana sasssestoensecunace tececsanes tecsteasesvancee sesscses seen
(@) Givetwo advamages of metamorphosis in insects. (2 mks): -
cereriiieneresannnsannenas e n———————. bamtaensasnssntnensatrenreseistsrerenns rerereaeeaa
.................................. e e et e e st et aee e e e a e e e nenenrn e s o nn
.........................
................... et ea e et ae e an s e nn o

..................

..................

------------------
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Exytocin

seeitacucaccurencassnsnsncans
veecrrnnsase seceesacscnsesene
¢4vesrarecrrertsntesnsncnanae
seessnnnes teccsesessnsetenses
tacausas secenvenss semceves ver
............. teerseirascnccan

................. teancencuane
-------- (AL AL LR RN Y RN T e
MRS AREE X T TN N R R Y WA arapascn veeo

......................................... e I I P
------------------------------------------------------------------------------------- LARE R NE TR TR XY R Srpapay
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Asmdemset-
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up an experirgent shown below to investigate a physxologlcal process in plants;~ <
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28.

Cobalt Chibﬂdé Paper

Wet Soil
Beaker
After 1 hour, the Cobalt Chloride paper changed to Pink. _
(a)  What process was being investigated? - - (1mk)
) The cobalt chloride turned pink faster on the upper side than the lower side. Explain whs
(2 mks
© Suggest the likely habitat of the plants (1 mic

........................................................................................................................

.......................................................................................................................

Itwasfoundtbatdunnggermmanonofbea.nseeds 92cm ofcarbonIVOxldewasproduced

while 9.0 cm® ofoxygenwasusedup ‘
@ G Calculate the respu'atory quoﬁent of the reaction. (2 mks}

......................................................................................................................




.

(i)  Identify the substrate being met abolished.

LR A i

‘MeNvessresvnnsnen

LR R R R R S O N

R R I

(d) . In which part of the cell does glycolysis occur?

R T R I Y

sazesssenae

deBSrerse s nsansecnnerrmane "eessesesnecsvrnseronrenns

(a) Define Homeostasis.

cessvennne

cssse “arsscssscesecrsccvecnnesnne

i A L R I creascessonnmee

(b)  Name three processes in the human body in which homeostasis is involved. - -

A R T Ceosesvene
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*PPsersccecvencanus

AR LA LA L EZ L R Y LR X R P

esvnsvosns

AR L R Y R S

essscse

vessssvee

R

4vvsecmencrsnvnese

12

(Imk) -« -

e R L R X TR L

“sua tecserrsarnnn

(I'mk)

recsvssces

M A R R R R P,

R N

(A'mk) .

A R R R L L

rressse

LA AR R R LR N

ces e sessesesesnss e
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sesee LA AR E XL X R R U
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e A R P
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